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You can say, it is a 22y ®p — 7 PP NN

Overview

A7 12 "R taught that the 79°9X M0°K of 2512 w32 is derived through the
w"13 of WP WP and the AR MOX is derived through a 1"'p from 797v." Our
Mmoo explains why we do not derive the 79°28 M0°K as well, from 797y,

— (2,07 PN TWAN 993 9INRTD 21990 0N P 99919 581 XY NN NOIN
We cannot derive the prohibition for eating 2%n2 w2 by way of a V''p

from 1199y, as the X723 states in "wan %2 7o -
— 19912 799 29 DTINY NN NV YN 99915 XIINT DIUN

Because it is possible to refute the 1"p, saying that plowing with an ox and
a donkey together, or muzzling the mouth of a cow, disprove the 1"p -

— AaNA 1YY *Nray yna NTavsT
For in those cases a transgression was committed with these animals and
nevertheless they are permitted to be eaten; similarly even though an 772y was
transgressed with the 2512 2w3, nevertheless it should be permitted to be eaten -

: 19N 19V 1MINT *HIN 9105 XYY *h95aN NOIN XIPN 99957 NNWA YaN
However now that we derive the 779958 21938 of 2512 w2 from a P, we
can derive the 1X37 MoK through a 1"p from 797Y and we cannot say w1
M1 779 20¥M A w3, because they are permitted 799982 and therefore

that is why they are also X372 n; as opposed to 2972 “w2a which is 777282 TOK
(because of the w"13) and therefore it is also fX372 0K as derived from the 79791 1"p.

Summary
We cannot derive 777°9% T0°R by 11"22 from 197Y because Mnm Mw2 WA

and 7119 °5 oo will refute this 1"p. However once we know 12°9X T0°R by
n"2a from a ", it is possible to derive X3 MO X from a 72w "p.

Thinking it over
Can we say 1121 against a 1"p that is merely a Xn?" "1773?

'See previous ('RiT) NI 7"7 MBOIN.

* We could say what if by 797w where no 71°2v was done, nevertheless it is (7X3721) 79°2%2 0K, it should
follow that by 2%n2 7w32 where an 772y was committed that it should surely be (7X1721) 77°282 10X, The
advantage of deriving the 79°5% 70°K from a 1" over a w"1x (even though that by a w" there is a mpon 210
as opposed to a 1"p where 171 11 WY PX) is that we would be spared mooin difficulty in the previous 71"7
nnR, that 72 W' PR (so 1"22 should be 7X372 N despite the 1"'p).

? It is forbidden to plow with a 1mm " together as it is forbidden to muzzle a cow while it threshes.

* The 79°3x% MO°K of 27M2 W1 is derived from the wp wIp ",

> We see that an 77°2y was preformed with them and nevertheless they are X372 M.
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